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Part B consists of 5 Units. Answer any one full question from each umt

Each questlon carries 10 marks and may have a, b cas sub questlons

A

PART- A (25 Marks)
la) Write the appllcatlons of photo diode. - S [2]

- b)  What is meant by depletion region? - B]
6) Deﬁﬁe‘hpple fittor and PiV. B [2]
d) Explain the necessity of filter circuit afier the rectlﬁer circuift. [3]

e) Why we call BJT as a current Controlled Device? 2]
f). Which, of the BIT conﬁguratlogs“ are smtable fq;; lmpedance matching
" applications. Why? iy - B
g) Define operating point. < g : 2]
h)  Explain thermal stability [3]

- BB Compire FET atie BJ?’ . 2]z
i) del: [3]

e e £EE N APART-B (50 Mar}s,s)
2.a) din how tunnel dlode operates under different

As dlﬂ'erent from conventlonal diodes? Give

[6+4]
: e‘hstlcs, explain SCR operatlon
Derivethe expressmn for Piffusion eapacztancé“ef adiodez @R [545]
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, Derive the expression for Rlpple factor for Full Wave Rectifier wﬂh L- Sect:lon

filter. [6+4]
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‘Draw the Cll'cmt dlagram and explam the operatlon of full wave rectifier usmg :
~center tap transformer and using bridge rectifier without center tap transformer.

- Obtain the expresswn for peak inverse voltages of both, [10]
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With neat diagram explam the constructlon, working characteristics of UJT Gwe .

-its equivalent circuit.

Explaln about Panch throtgh and Ba‘.@‘é width ri&dulation:#. [5+3} '
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| 'hybnd model. . , _ | [4+6]

i

- current gain and’ voltage ‘
- Give the advantages of

 Write the conslructl

Explain the o

5 In a; Sﬂlcon transistor cuc:u:lt Wlth A ﬁxed bias, Voc=9¥, Rc=3KQ, RB SKQ .

B =50, Vge=0.7V. Find the operating point and Stability factor.

~ What is the necessﬂy of blasmg circuits? Denve the expression for stab111ty factor
of self bias circuit. u . e o [5+5]
E )- @"R ' Hz ,: e :

The hybrid parameters for a transistor used in CE conﬁguratlon are hy = Skﬂ;
hfe = 180; hg 125 x 107 hoe 16 x 106 ohms The trans1stor has a load

various biasing conditiohs
Draw and expla ;

Descnbe the .
for voltage g;

5:2 fgfg 5:3 YN bt 3,
£ Rl (g i
ﬁ}%’:é P Fred g pacs

bR




